Leader

LR2561 / LC2566
SYORI NT7HTH— | TS20)FRI)L
RACK MOUNT ADAPTER / BLANK PANEL

BUNGREAE
Instruction Manual

BEVEITVWEZEESHONESTENET,

COEURGRIAE ENBD [REZR2(CTHERVEELEHIC] ZLSBRHADIX.
R RZE(CHHENTES0N,

Thank you for purchasing.

Please carefully read this instruction manual and the included "GENERAL SAFETY SUMMARY".
Please use the product safely.



Bz LTelCCERWEIELSZ®IC
GENERAL SAFETY SUMMARY

TRICRIFEALOES - FEFHE, FHAEOENK - £ (CXH I DEREIUVERDIES - SR EZEITD
ZHDEDTY, w9 FiEDES - FRBFBIEZT O CTEALLIZEL.

Review the following safety precautions to avoid operator’s injury and loss of life and prevent damage
and deterioration to this instrument. To avoid potential hazards, use this product as specified.

A%‘%/WARNING

B FEARUICAET3ZEEIE Warning Concerning the Screws

FRRUIE. HAHITRICHE > TIEREDEES LUORTOBDZFER LT ZE0,. BEMINORUZE
EATDEHBARCHEZREL, K RE. BE. BHRRIEDRRERDFET,

Use screws of the specified type and length according to the assembly diagrams. Using other
screws may adversely affect the unit and can cause fire, electric shock, malfunction,
accidents, and so on.

&3‘ #/CAUTION

B AAHITICRATSFEEIE Caution Concerning Assembly

A TORR, IREDITYZETIINZITIEENAHDEIDT, +FRUTHALTTLEE
LY,

Exercise caution during assembly to prevent injury, such as from the edges of the metal
plate.

B QUFDMHITNLOICET DFEFEIE
Caution Concerning the Screw Tightening Torque

RUISEEDH(CEN ST, TEROMMDMT MLI TS TRHEH T IZE, fHEONFNEEBHEEDE
9. Ffo. FEHBEET D WOV ZE L. WINEEEDRERERDFET,

Fasten the screws according to the tightening torque of Table regardless of the shape of the
screw head. If the tightening torque is too low, the screws may come loose. If it is too tight,
it may lead to breaks or elongation and can cause a malfunction.

IMZ  Nominal Diameter WO ML Tightening Torque (cN-m)
M2.5 / M2.6 41.2
M3 59.8
M4 147.0
M5 294.0
- 4




1. (FUsIC INTRODUCTION

COEWE. U—F-BFORBZHSEVLIFVEIEZEFELT, MCHONEDSTETNET., HRzTe
[CTEARWVWCIEL Tz, CHEARMICABIRGRIAZSZREF THEHRAVTILE, HEDIELWMEVWAZIIE
RO L. ZERIEE,

Thank you for purchasing LEADER's product. Please read this instruction manual carefully to
ensure correct and safe operation.

2. fI#k SPECIFICATIONS

2.1 BE  General

LR2561 (&, EIACKEEFIER)ICEUZ 19 1>F SV IICEHHEEZBMDMFIIDZHDST VI
D> KNP TH-TT,

LC2566 (&. LR2561 EHDIS> /) \RILTT,

The LR2561 is a rack mount adapter to attach Leader's products to a 19-inch rack complied
with EIA (Electronic Industries Alliance).

The LC2566 is a blank panel exclusively for the LR2561.

2.2  MSE&E  Applicable Products

LV5300. LV5350. LV5600
BEBOEAEDEERIDLD(CIRDET
The combination of each products is as shown in the figure below.

LV5600 LV5300,LV5350,LV5600

°cooaaa o [°6 560
LV5600 LC2566
(
) O
o o
ocoooooQg
cooooo
LC2566 LV5300,LV5350,L V5600




2.3  AMEESTER] Mounting Dimensions
® LR2561
9 4-6x10
N
™
0
N
N
7 ) 00008
e R
o|!]e 0 [lﬂl]ﬂl][l[] 0
‘ o 0 SO0,
| P
l e e 01 o o °
3 I o ol
‘ 9 Io ol
I o o |
i I ©° o
‘ ® ! Z Z ! o
0000000000000000000eo0a000eo0eooaood | ! | 00000a000e00B000e00C000e00a000000ND - u o o u
o I ° °
) ) T o ) é 9 N N (]
w
I S Lo ole
N SO
& o o
N o o
; lo- - -2
J [
481
465
@ 189.2 368 189.2 8-6x10
— ' 7/ X
© ’ + ;4-5x10 h/t&
| |® f
g [ | S
@ C| 495
9. Ji= Fa

0000

354.5~520 (SLIDE RAIL S)

L] °
r—— "7
I o ol
1 ° o
1° o
9 o
o', e
[ ol
1o ol
éo oé
A A
°|® @l o
o o
[ o
() o
[ o
(o] o
() o
[ o
[ o




@® LC2565

34.5

68.5

435
36

fo——@

4-M3

195.5

226.5

L

131

76
21
10.5
T
@
N
©
.
2-M3




2.4

BRAZE Contents

LR2561 / LC2566 (&. AT DEBGE TR SN TULE T, HHIITIEIC. INTOEEMFE>TLD
CEZEERLUTLIZE,

The LR2561 / LC2566 consist of the parts indicated below. Before assembly, check that you
have all of them.

£t
wiE iE X 2 ¥R =
Model | Symbol Figure Item Name Qty
A AHE 1
Main Unit
e
f_} o Slide Rail L
e
LR2561
o 254 RL—JLS
c L 2
e Slide Rail S
2
A
0
D 0 RFw b A
0 Plate Nut
0
L~
O N> R/hRU M3x6
E N 4
~ Binding-head Screw M3x6
F % N> Rl M5x16 8
Binding-head Screw M5x16




I\ > RVl 8-32UNCx 16
Binding-head Screw 8-32UNCx 16

¥owv>v—M5H
Plain Washer for M5

| ©

ENESET RS
Instruction Manual

LC2566

JTS5>0)8F%IL
Blank Panel

m/pal M3x8
Flat-head Screw M3x8

NG SE RS
Instruction Manual




3. #HIIT ASSEMBLY

HEOHEAFEDE (L 2.2 MEEE] ORZERL TSV, ZZTEAIE L TERIC LV5600 &l
(C LV5300 ZF/z(F LV5350 ZE DT dim&E E. EAIC LV5600 ZE DT 21557 RUTLET,
For the combination of products, refer to the figure of "Chapter 2.2 Applicable Products". Here,
as an example, we will describe two cases. One is the case that the LV5600 is installed on the
left and the LV5300 or the LV5350 is installed on the right. The other is the case that the
LV5600s are installed on the both sides.

3.1  #f{@ Preparation

o0 AHBODBEHITICIEUATOIENNETY., BEMRBEE TTRHELSIZE,
You require the following tools for assembling the LR2561.Please prepare them by
yourself,

- TSARSAIN—- 28) Cross slot screwdriver (type2)
- FR Gloves
- wmaEBIERUX N>R Antistatic wrist band

® LV5300. LV5350. LV5600 OEEFEZ>T. EHEI— RZEIRVLTIZE0L,
Turn off the LV5300 / LV5350 / LV5600, and remove the power cord.



HHHIITFIE Assembly Procedure

3.2

KEED T FFIEE  Working before product installation

3.2.1

Pr)ZERDILET .

REM@A M

LV5600 5. J\> R)L. BE/RILDORG(4 hFr). X%

1.

and the four feet.

I

From the LV5600, remove the handle, the four rear panel screws

> RRER2 MF)ZEDIUET .

I\ R)L. RH5
remove the handle

5.,

(& LV5350 »
From the LV5300 or LV5350,

LV5300 &7z

2.

and the two feet.

A




LV5350 ZEXDFIF DB FHR— b S DIEZRISICEELFT. F/z LV5600 Z2HAIC

BO T DBEEFEPR— K SZERDHLUET,
In installing the LV5350, move the position of the Support S to forward. In installing the
LV5600 to the right side, remove the Support S.

RUZEDH L. KRADSMHAEIDR. BR— b SZERDHLET,
Remove the screws and then remove Partition and Support S from the Main Unit (A).

A Bk S

Support S

s DET
Partition




DR SHR— K~ S ZEDHULET,
Remove Support S from the Partition.

HR—k S
Support S

TV
Partition

LV5350 ZEXD {1 DIHBEIFHR— b S ZRIADALIEICEE UBD{FHTET,
In installing the LV5350, move the position of the Support S to forward and then install

T -
3 ~ 7
2 e
7
W”
n
-~ 27N —rs
N . e Support S
" =
< HEIYIR
~.
v Partition

B T2 CTHRA I TIZEP@ZAR(A) CERDHFE T,
Attach the parts assembled in the previous process to the Main Unit(A).

*HORUE. BIR— bk SZRDIUIIBREARETT,

uxn

Screws marked with are not required if Support S is removed.

10



AAR(A)NDRGDELD 15 1F45 Example of the product installation to the Main Unit(A)

3.2.2

(& LV5350 ZER D11 3BE

In installing LV5600 on the left side and LV5300 or LV5350 on the right side.

AR LV5600. BN LV5300 FTz

1.

EAIC LV5600 ZE D 1T D155,

2.

In installing the LV5600s to the both sides.

11



3.2.3 LC2566 MELD AT Installation of the LC2566

IS520) ) (a)2MBORU (D) TEMDITEY . ARIICED{ITZEEREETYT,
Install the Blank Panel(a) with the included screw(b). It can also be installed on the left
side.

12



3.2.4

XS54 RL—JLOBD{FF Installation of slide rails

AKA)CRSA RL—=ILZEDFTTHS. SYDCBDMITET. XAS51RL—)UE. SVvoD
BYITE(CEDETRS A RL—ILL(B). A5 RL—)L S(C)MSERUEBD I T IZEL,
Attach the slide rails to the Main Unit(A), and then fix them to the rack. Select the Slide
Rail L(B) or Slide Rail S(C) according to depth of the rack.

13



Hm(CEIDEHEEE

At EREZERS
BiE 045-541-2122 Fax 045-541-2120
E X—)l sales@leader.co.jp

)-F-EFiFNEw

T223-8505 #RIIREATEILXHMER2TEH6E33S

Head office Sales Department
Tel 81-45-541-2123 Fax 81-45-541-2823
Email sales@leader.co.jp

Leader Electronics Corporation

2-6-33 Tsunashimahigashi , Kohoku-ku , Yokohama-shi ,
Kanagawa , 223-8505 , Japan

www.leader.co.jp

Oct. 13, 2020 Ver.1



	1. はじめに　INTRODUCTION
	2. 仕様　SPECIFICATIONS
	2.1 概要　General
	2.2 対応製品　Applicable Products
	2.3 外形寸法図　Mounting Dimensions
	2.4 構成内容　Contents

	3. 組み立て　ASSEMBLY
	3.1 準備　Preparation
	3.2 組み立て手順　Assembly Procedure
	3.2.1 製品取り付け前作業　Working before product installation
	本体(A)への製品の取り付け例Example of the product installation to the Main Unit(A)
	3.2.3 LC2566の取り付け　Installation of the LC2566
	3.2.4 スライドレールの取り付け　Installation of slide rails



